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¢ Please check that this question paper contains 8 printed pages and 2 pages of maps.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

o Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the |
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i) There are 26 questions in all.
(i) Al questions are compulsory.
(iti) Marks for each question are indicated against it.

(v) Question numbers 1 to 10 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 20 words.

(v)  Question numbers 11 to 20 are short answer questions carrying 3 marks each. Out
of which one question is a value based question. Answer to each of these questions
should not exceed 80 words.

(vi)  Question numbers 21 to 25 are long answer questions of 5 marks each. Answer to
each of these questions should not exceed 150 words.

(vii) Question number 26 is related to identification or 'locating and labelling of
geographical features on maps.

(viii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

1. =gy e wig =6t oftver Sifg | 1

Define the term ‘quaternary activities.’

2. ‘I v @ o 9aET | 1

Give the meaning of ‘digital divide.’

3. W@ T & TS (Y i weE % 9 qanw |

Name the seaports on each end of Suez Canal.
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4 e T T T R S | 1

Define the term ‘road density.’

5. w.ﬁmﬁwm%aﬁéﬁmﬂﬁm

1,1
E + E =1
Give any two examples of ancient towns of India.

6. YRE % GEY T U WEER I M 71 FaEy | 1
Name the country which is the largest trading partner of India.

7. IR IO F HEperll B g F A ST T WSt um A 96 | 1
Name the seaport which was constructed to reduce the congestion at Kolkata port.

8. TG & R & WRA & S 7 9T §EIT T WG R U6 AW TRy | 1
Name the major seaport which was developed just after independence on the western
coast of India.

9. ‘THPW A TRE? 1
What is truck farming ?

10. ‘3061 9N F EH F YT FRIT H 01T SHI | ' 1

Mention the root cause of ‘acid rains’.

11, <iifqem spiter i AT ST & avall o e IO Sr=N=atRar Bt & 1 3 U i Suge
TR wied gfte Fifeng | 3x1=3

“There is mutual interaction between the elements of Physical Geography and Human
Geography.” Support the statement with suitable examples.

12, st Rl A Rrdwaret @ avk ST |  3x1=3

Describe any three characteristics of ‘Household Industries.’
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Study the map given below and answer the questions that follow :
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(13.1)
(13.2)
(13.3)

Name the railway line shown on this map.
Name the terminal station of this railway along the Atlantic Coast.

Why is this railway line known as ‘economic artery’ of the country

through which it passes ?
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15.

16.

17.

18.
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e frfafaa ue Faet gheanfas ahtenfaat & fag v d@e 13 =9 w
& 1+2=3

(13.1) HER % Fa9 e YR-TETE T ITHT ST A1 ST
(13.2) 39 T F7 fire Hew T il |

Note : The following questions are for the Visually Impaired candidates only;
in lieu of Q. No. 13.

(13.1) Name the longest trans-continental railway of the World.
(13.2) Explain the economic significance of this railway line.
IR S AT SR Sl B o 3l WeE HY | 3x1=3

Differentiate between rural and urban settlements of India in three points.

AR A T el Fgai bl Bl -3 favimarett 1 Seer wifw | 3x1=3

State any two characteristics each of the three distinct ‘cropping seasons’ of India.

IR & @i GOl &t 76l 7 g fstwarett w same Fiftw | 3x1=3

Explain any three main characteristics of mineral resources of India.

wﬁmﬁwa‘{%?ﬁqwﬁwavhﬁhm 3x1=3

Describe any three advantages of satellite communication in India.

IRA § TR SR IS’ Tk T TH 961 € 2 HiE o SR T HitT | 3x1=3
Why is the “Urban Waste Disposal’ a serious problem in India ? Explain any three reasons.
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19. Wé?@ﬂ%ﬁgﬂ?mﬁdaﬁfwhﬁﬁ@ﬁmﬁﬁﬁqmmmmaﬁﬁq
AR 3w A2 e 1w e 3 I i 1+1+1=3

(19.1)  TWI G4 ! W= BT 3N ITH 719 T=T |
(19.2) ¥ wd= I viw sl et ot A iRy WA @1 Soehg ST |

(19.3) 3@ ¥4 & f0 oI & Hid &1 Seoig FIT |

Study the diagram given below, showing the location of an important steel plant of India,
and answer the questions that follow :

Steel Plant
orba
Bilaspur g
Balaghat St _f' L R,
A iy -
%i | I\»{ahanm
Iﬂ/ f\\ Durg Raipur
* Bk % Stcel Plant
Dolomits
Dalli Rajhara Hills E Dolomits
w Iron Ore
BER Coal
Tandula ¥ Iron
Tank | = Railway

(19.1)  Identify the steel plant and name it.

(19.2) Mention the thermal power plant which supplies power to it,

(19.3) Mention the source of water for this plant.

At Frfafen we e et vt & Mo T G 19 F TR WE 1 +1+1=3

(19.1) ot § w9 & geaiT @ frg e W o e s o o

(19.2) 3% I AR GG 1 A9 TARE, N 79 G H AR FY AT BATY |

(19.3) 39 69 % {0 5ot & & 7 Seoig HifAT |

Note : The following questions are for the Visually Impaired candidate’s only; in
lieu of Q. No. 19.

(19.1) Which steel plant was established with Russian collaboration in
Chbhattisgarh ?

(19.2) Name the thermal power plant which supplies power to this plant.

(19.3)  Mention the source of water for this plant.
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20.

21.

22.

23.

24.

25.

T T YT % N ST W e a6 fereeor iR | \ 3

Analyse the economic and social values of rainwater hafvesting.

Wﬁmuﬁﬂﬁq%?ﬁﬁmﬁmaﬁﬁq | STEEAT UEe & TaEl 1 favemor
BT | 3+2=5

Explain the three components of population change in the World. Analyse the impacts
of population change.

R e “aforee v w9 e v Real @ A S | 5%x1=5

Describe any five characteristics of ‘Commercial Livestock Rearing’, practised in the
World.

fywféeres smaR 3t sg-afeaes saw § s T AT | o fore YR s | werae §
T | 2+3=5

Differentiate between bilateral trade and multilateral trade. Explain how ports are
helpful in trade. '

HIFHT % AU R, FAR 1wt sfeat & et i it 51 i wif | S5x1=5

Describe any five patterns of rural settlements in the world on the basis of forms or
shapes.

“ORA H 1921-1951 & T A SRR Ft R ghg F orafy F w0 § S o & @i
1951-1981 & TR Y TGS foreRie 9 arafy % wU F S ST Y FRU 3T gT W
T | - 23+21=5

“The decades 1921-51 are referred to as the period of steady growth of population
whereas the decades 1951-1981 are referred to as the period of population explosion in
India.” Explain giving reasons.

64/1/1 7 [P.T.O.



26. (26.1)

(26.2)

(26.1)

(26.2)

{26.1)
(26.2)
(26.3)
(26.4)
(26.5)
Note:

(26.1)
(26.2)
(26.3)
(26.4)
(26.5)
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GUR ¥ fqu i yerifae Y@raEtes § 9% o A, B, C SR D sifea fr e ¥
T IO B YL A S T SR B AET § P o 3% 9e T o &
fepe @il 7 Tl o fofigo 4xi=2

2
A UH HEE SR aT
B: e uraemidl ot & v it s wew
C: fateT dugw & U% &3
D: cferar | 99 17 SEEn gig 53 o 39 (1995-2000)
IR & Tqu e it Y@t o frefafiaa ® fef swge foet g frare
3R 3 T e 3x1=3
A, TEd e SRR 3T 9o TS
B. ¢ % 3cRA H vl T9
C. Tad I =g Bae Ieie

In the given political outline Map of the World, four features A, B, Cand D
have been shown. Identify these features with the help of information given
below and write their correct names on the lines drawn near them.

A: Animportant sea port

B: A terminal station of Australian Trans-Continental Railway

C: An area of subsistence gathering

D : The country with lowest growth rate of population {(1995-2000) in Asia.

On the given political outline Map of India, locate and label the following
with appropriate symbols :

A.  The state having highest literacy rate.
B.  The leading state in the production of Jute.
C.  The northern most international airport.

fretfefaa we et gheanfas afienfaat % f0 o T 26 F WA WY 5x1=5
ghoT amfte | fate T % & %1 St it |

Uiy § HER %0 TGS ghg < (1995-2000) aTEt 31 I AW FART |

WA | T e Qrear 3¢ 76y I & ¥ 2

HRA | S[E % IR H 30T T 1 919 S4R50 |

R & T8 I SRS a1 T9 1 A9 Fa6T |

The following questions are for the Visually Impaired candidates only; in lieu of
Q.No.26:

Mention an area of subsistence gathering in South America.

Name the country with lowest growth rate of population (1995-2000) in Asia.
Which state has highest literacy rate in India ?

Name the leading state in the production of Jute in India.

Name the northern most international airport of India.
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Map for Q. No. 26.2

U 4. 26.2 % e uefs

Outline Map of India (Political)
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